Efficiency vs dr

v 02

<
©0.18
20.16
c
Q
50.14
=
®0.12
0.1
0.08
0.06
0.04
0.02

[y

[ fake+

duplicates vs AR |

0.8

0.7

0.6

0.5

0.4

take+duplicates rate vs AR

0.3

0.2

-1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.02
n0.018
-
%).016
9.014
>
9.012
]

3 o
£ 0.01

“0.008
0.006
0.004
0.002

1.0

Ratio
N

0.95

107

1072 1
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

.............

.............

.................

1.0

Ratio

1

0.95

0.%

O[T T

-1

gl
1072 10 i
track min AR

[ fake+duplicates vs AR(track, jet) |

iy

1072 1
AR(track, jet)

[ fake+duplicates vs PU |

5 05

a

g0.45

[6]

*§ 0.4

£0.35

I

S 03

Q.

30.25

5

E 0.2
0.15
0.1
0.05]

o +R

IS

@ jl
0.95

1 1

-1



	Contents
	Page 1


